133.

134.

135.

Passengers ------ - internationally must go
to Terminal D, which houses all gates for
overseas flights.

(A) travel

(B} to travel
(C) traveling
(D) traveled

As head of planning, Ms. Jeong has to
divide her ==----- between the company’s
present situation and its goals.

(A) condition

(B) factor

(C) development
(D) attention

Mr. Armatelli feels that -=----- is certainly
the best way to resolve any problems
among co-workers.

(A) talks
iR} has talked

137.

138.

139.

Avortek Corporation’s business ------ -
which had served them successfully in the
past, required upgrading for changes in its
industry.

(A) profit
(B) supply
(C) strategy
(D) concern

The agreement of five major banks on
funding for Star Tech's new project gave it
mmmerae financial backing.

(&) credit

(B) crediting
(C) credible
(D) credibly

After successfully producing 20,000 units
last year, the Rabo Corporation’s Brazil
subsidiary was able ------- on its own in
manufacturing.
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